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Bl1E MEBIERE (i~ a)E)
(Hs(cm) @ HEE, H,(g/cm?) : Tk, G(g/cm®): FHE K
Rlkg) : P55 o588, T.(°C): BlosiE, Hlem) : EA o
nEE, F:EY, T.(°C): TR Rkg): 7LHEKE)
T " Y 5 H R I
H H F|lH| T H R H F H F|l|H| T H R
I i E | 138~107 | N 135~108 | 0.8 i & | 103~73 | N 98~83 | 0.8
M| 107~8 | S, 108~107 | 2.1||/ERE| 73~55 | S 83~74 | 2.1
2 A248 | 8~65 | S, 107~102 | 6.1} 25248 | 55~15 | S: 74~68 | 5.5
K H &| 65~60 | GH 102~91 | 4.0([% B & 15 i 63~56 | 7.1
] 60 i 91~84 | 3.6[ & W 15~0 | GH: 56~47 | 6.6
H:=139 | 60~24 | GH, 84~75 | 9.9 H=103 47~38 | 24.4
Ho=38.3| 24~10 | G 75~69 | 18.8 | H.=24.9 38~30 |52.1
G=0.28 10 i 69~65 |32.1( G=0.24 30~23 [42.1
R=289| 10~0 G 65~53 | 15.5| R=18.7 23~15 |32.1
53~45 [42.1 15~8 [13.6
45~35 | 38.1 8~2  |22.1
35~25 | 911 2~0 f102.1
25~20  {115.1
20~15 |59.1
15~10 | 59.1
10~5 {35.1
5~0  |59.1)| 4 i # | 73~65 N 72~63 | 0.8
I i B | 189~163 | N 189~159 | 0.8[[4  #| 65~49 [S:S. 63~62 | 2.1
£ a0 1s3~100 | s, 159~157 | 2.1|| 2 A24m | 49~27 | H. 62~50 | 3.0
2 A248 | 140~100 | S. 157~152 | 4.10#% B & | 27~0 | GH. 50~36 | 2.8
®OEB| 100~70 | S:G 152~146 | 5.5 & W 36~32 | 7.1
& | -6 | G 146~137 | 6.6 73 32~26 | 8.8
Hs=189 | 63~50 | GS» 137~129 | 7.1|| He=19.9 26~18 [17.1
Hu=51.3| 50~0 Gl 129~118 | 16.7]| 6=0.27 18~12 [22.1
G=0.27 118~109 | 28.8{| F=13.6 12~7  [26.1
R=29.9 109~99 | 50.1 7~5 1621
99~89 | 26.1 5~2- | 68.8
89~79 143.1 2~0  |42.1
79~69 |39.1
69~59 |27.1
59~49 | 31.1
49~39 |55.10/3k i #| 165~140 | N 157~139 | 0.8
39~29 [55.1({8 i | 140~115 | S, 139~129 | 2.1
29~19 |55.1|| 2 H258 | 115~67 | S. 129~122 | 3.6
19~9  |3La|| kB & | 67~48 | Gi 122~116 | 8.8
9~5 731 & | 48~35 | S:G 116~104 | 8.8
5~2 | 96.5( H;=155 35 I 104~96 | 12.1
2~0  |143.1}\,H,=45.3| 35~0 G 96~86 | 18.1
I i | 107~80 N 103~74 | 0.8 G=0.29 86~76 | 38.1
PENE | 80~58 | S:S 74~68 | 2.1|| R=25.1 76~66 | 42.1
2H24E | 58~33 |S:He 68~63 | 4.1 66~58 |37.1
BmEa] 33~0 GH: 63~48 3.5 58~47 | 32.2
P 48~43 | 8.1 47~37 | 43.1
He=110 43~33 | 12.1 37~27 | 71.1
Hu=23.4 33~23 | 10.1 ' 27~16 {28.6
G=0.21 23~15 | 9.6 16~7 | 34.2
R=938 15~5 14.1 7~0 3.7
5~1  |53.1
1~0  [203.1
L_
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& i | 25~235 | N 266~216 | 0.8[|4c # | 263~252 | N 255~221 | 0.8
FHET | 235~220 | S, 216~210 | 5.5||#% 4 M| 252~235 | S 21~197 | 2.6
2 B25H | 220~105 | s, 210~201 | 6.6|| 2 B24H | 235~210 |$:S: 197~192 1 10.1
BOE B 105~43 | Gi 201~193 | 9.6l % M #| 210~190 | S: 192~187 | 10.1
W] 43~20 |8 193~18¢ | 11.0[Z& 10| 190~135 | S» 187~174 | 6.8
He=260 | 20~0 | Gi 184~174 | 10.1|| He=257 | 135~90 | S:G 174~165 | 24.4
Hu=76.3 174~165 | 15.5|| Ho=86.5| 90~80 | G 165~155 | 38.1
G=0.29 165~155 | 31.1)|G=0.34 | 80 i 155~145 | 71,1
R'=50.6 155~146 | 38.7| B=62.7| 80~40 | G 145~135 [131.1
146~136 | 51.1 " I 135~125 | 35.1
136~126 | 83.1 0~35 | G 125~115 | 71.1
126~116 | 91.1 35 1 115~105 | 71.1
116~106 | 27.1 35~0 G 105~95 | 67.1
106~96 | 79.1 95~85 {103.1
96~86 | 75.1 85~75 | 51.1
8~76 | 35.1 75~65 | 71.1
76~66 | 87.1 65~55 |127.1
66~56 | 76.1 55~50  |164.1
56~46 | 80.1 50~45 {2041
46~36 |156.1 5~40 [140.1
36~26 |120.1 10~3% |116.1
26~16 | 60.1 35~25 | 76.1
16~6 | 84.1 2%5~15 |112.1
6~2  |124.1 15~10 |148.1
2~0  |364.1 10~5  |108.1
i E| 50~ | N 51~46 | 0.8 5~0  [116.1
MERD| 41~25 |SH 6~41 | 2.1
28u8 ] 3B~3 | H n~-3 | 4.8
BE S| 3~0  |GHi 37~33 | 7.1
* 3327 | 8.8
He=51 27~20 | 5.0 4 % & | 233~221 | N 60 I 200~183 | 0.8
Ho=13.4 20~13 | 10.7)|88 m | 221~201 | S, | 60~45 | S:G 183~156 | 2.1
£=0.26 13~6 7.8 2 R238 | 201~185 | S, 15 1 156~150 | 8.8
R=6.1 6~0 5.5 % | % | 185~165 | S, | 45~40 | G 150~139 | 16.7
| 228~195 | N 215~201 | 0.8|%& | 165~136 | S. | 40~33 | s 139~130 | 42.1
B E| 195~170 | s, 201~193 | 2.1jl 5 =233 | 136~103 | S: | 33~30 | G 130~120 | 30.1
2ZR2B | 170~100 | s, 193~184 | 4.4ipy —g50 103~80 | S:G 30 I 120~110 | 38.1
BoE &l 100~65 | G 184176 | TMr_g36| s0~78 | G | 30~2 | G 110~100 | 62.1
ji:ni] 6~0 | Gi gg:i:f E? F=5l1| 78 [ | 2~15 | s 100~90 [111.1
‘ 8~60 | S| 15~0 |G 90~80 |151.1
Hu=68.3 161~149 | 12.1
G=0.31 149~141 | 22.1 80~70 ) 471
R=57.0 141~135 | 28.8 70~60 | 47.1
135~125 | 42.1 8050 Tl
125~115 | 50.1 50~40 | 67.1
115~105 | 35.1 40~30 9.1
105~95 | 87.1 30~20 | 59.1
95~85 39.1 20~10 63.1
85~75  [111.1 10~0  |111.1
75~65 | 75.1
65~55 | 75.1
55~45 | 87.1
45~3 | 67.1
35~25 | 9.1
25~15  [150.1

15~0

144.5
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H H Flu] & H R H | H Flua| H R
It # & | 160~136 | N 162~144 | 0.8|4t # = |128 ~122.5] N [56.5~54 | GH.| 128|— 5.3 (128 ~113.5 1.0
B3| 136~120 | S, M4~142 | 21| R R 1225 | G |54 ~52 |GH.| 120| — 3.4|113.5~104.5| 4.5
2H258 | 120~70 S, 142~125 | 3.3|| 2 A258 [122.5~119.5| NS. | 52 ~49 G | 10| — 2.8|104.5~93.5 | 13.2
®E A 70~32 [GHi 125~113 | 55| W = 195 | G 49 I | 100 —3.2[93.5~8 | 11.8
A | 32~0 |GHi 113~102 | 5.8))@ B {119.5~114 | Si |49 ~47 G 90| —3.2|8 ~73 | 30.3
Hs=159 102~92 | 18.1f Hs=127 | 114~113 | G 47 I 80| — 2.8{73 ~62 | 24.6
Ho=42.5 92~82 | 22.1)| He=38.7| 113~105 | S: [47 ~40 G 60— 2.1]62 ~54 | 12.8
G=0.27 82~73 | 13.0{G=0.31| 105~100 | S: |40 ~39 1 400 — 1.4|54 ~48 | 42.8
R=11.6 73~62 | 24.4| R=23.8 | 100~87 Si |39 ~32 [ S.G| 20{—0.8{48 ~39 |36.1
62~52 | 35.1||7e=—5.1{87 ~80.5| S 32 1 0! 00|39 ~28 |46.4
52~41 | 213 80.5~69 | S: |32 ~29 G 28 ~15 | 315
a~31 | 271 69 ~67.5| G |29 ~28 1 15 ~7.5 | 46.5
31~21 | 35.1 67.5~66 | S: |28 ~18 S, 7.5~0 25.1
21~12 | 16.5 66 I 18 I
12~6 29.8 66 ~63 G |18 ~14 G
6~2 43.1] 63 ~59 | S2 |14 ~11 G
2~0 83.0 59 ~56.5| S. 1 I
I ¥ #| 120~9% N 119~87 0.8 56.5 G |ln ~2 8.6
WIFEE | 96~85 | S, 87~83 2.1 2 ~0 G
2F25H | 85~65 |SiS. 83~65 2.7
®HE | 6~38 | S 65~59 | 12.1
A | 38~30 | Gi 59~48 | 20.3
H=124 | 30~13 | S. 48~38 | 14.1
Ho=30.1| 13~0 G 38~29 | 15.5
G=0.24 29~19 | 18.1f 4 # & [133.5~128.5| N |50.5~47 G [133.5|— 2.8|133 ~i27 | 1.0
R=11.9 19~9 27 |4 1% % |128.5~127.5| Si |47 ~a4 G 130 2.2 (121 ~112.5| 2.3
9~0 34.2| 2 A250 127.5 | G |44 ~d40.5] s, [120 2.0|112.5~103 | 17.0
W M |127.5~125.5] S: 40.5 I (110 3.4| 103~92 | 18.7
d % & {155 ~165] N 4.5 U} o1ss)—3.2] 157~138 | 1.0fj@ B |1255~105 | Su [40.5~40 | S,G (100 3.4092 ~81.5| 19.4
H W |146.5~1445| G |44.5~40 G | 150 | — 2.6 (138 ~126.5| 4.0)H.=133 | 105~95 | S: 40 I |80 2.6(81.5~78 | 45.2
2 H258 (144.5~13% | N 40 I | 140 — 2.1(126.5~117 | 17.0(| Ho=43.6 95 G" (40 ~36 | S, |60 2.0(78 ~73 | 50.8
W @ 136~135 | G [40 ~37.5| G | 130|— 3.6| 117~105 | 14.8{{G=0.33 |95 ~87.5| Sz |36 ~355| I | 40 1.4|73 ~63 | 32.8
"B 135~124 | S 37.5 I | 120- 3.9|105~97 |21.1}jR=43.8|87.5~86.5| G |355~345| G |20 0.9(63 ~50.5| 41.2
He=155.5 | 124~119 | S: [37.5~36.5| G | 110 — 3.7|97 ~92 | 44.3}{T.=—4.7 [86.5~83 | Sz |34.5~34 1] 0 0.050.5~43 | 90.8
Hw=50.1| 119~110 | S. [36.5~34.5| GI | 100| — 3.3(|92 ~86 | 49.5 83 ~82 G 134 ~30 G 43 ~38 | 50.8
G=0.32 110 G |34.5~32.5| G 80| — 2.918 ~77 |29.5 82 ~72 | S: 30 I 38 ~33 | 98.8
R=32.2 | 110~105 | S: [32.5~30 | Sz | 60)— 2.4{77 ~66.5 | 65.7 72 ~7 | IG {30 ~26 | S. 33 ~28 |123.8
T,=-3.9 105 G 30 G 40| — 1.466.5~57 | 21.8 70 ~68.5| G 26 1 28 ~12 | 7.3
105~91 | S: [30 ~27 | S:| 20— 0.6[57 ~46 |31.1 68.5~66 | S2 {26 ~23 | S 12 ~3 70.5
91~84 S, 27 i 0 0.0 146 ~37 77.1 66 1 |23 ~225]| 1 3 ~0 43.8
84 ~83.5| [ f27 ~25 | S. 37 ~24 | 40.7 66 ~57 | S: |22.5~21.5| G
83.5~80 | S. |25 ~24.5] I 24 ~16 |26.3 57 ~56.5| G 21.5 I
80 1 j24.5~21 G 6 ~7 7.1 56.5 [ |21.5~19.5| G
80 ~78 | S. 21 I 7 ~1.5 | 365 56.5~55 | G 19.5 I
78 I |21 ~195| G 1.5~0 3.8 55 I ]195~13 | S,
78 ~62 | S: 19.5 I 55 ~53.5) G |13 ~125] 1
62 ~60 | G*|19.5~15 | S:G 53.5 I [125~95 | s,
60 ~58 G 15 i 53.5~51.5| G | 9.5~9 I
58 I )15 ~12 | SG 51.5 L]l9 ~7
58 ~47 | G (12 ~11.5( I 51.5~505( G [ 7 ~0
47 I [11.5~5.5 | $:G 50.5 I
47 ~46.5| G 5.5 i
46.5 I | 5.5~45 | S:G
46.5~44.5| G | 4.5~0 G
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H H F H Ts H R H F H F | H Ts H R
Ao |93 ~88.5] N 35 I 93|~ 0.2}93 ~85.5| 1.0/ # iff|62.5~60.5| N [23 ~21 | H. |62.5|~0.2|68 ~56.5| 1.0
LRIl 1 88.5~86.5| G |35 ~33 | Hy | 90— 0.485.5~78.5| 3.0/eh (=] 60.5 G |21 ~205]| I 60 0.0]56.5~31 3.3
2 A258 | 86.5~80.5| S: 33 [ 80| — 3.6|78.5~74 | 13.4| 2 H248 | 60.5~53 N [205~18 | H: | 50|— 05|31 ~20 6.8
W B|80.5~65.5| Sy |33 ~30.5| H, | 70|— 3.1{74 ~63.5|12.8(th M|53 ~50.5| G |18 ~17 I" | 40|— 0820 ~11.5| 37.6
o Bl 655 G* 30.5 1 60— 2.2(63.5~54.5| 5.6l  K§150.5~44 | NS |17 ~13 | H. | 30| - 0.7[11.5~55 | 36.1
Hy=93 |65.5~55 S1{30.5~25 | H, | 50 1.7 54.5~53 | 15.6|| H:=65.5 44 G |13 ~105) Ha| 20]- 05 55~0 11.9
Ho=27.5|55 ~44 Se |25 ~24.5] 1 40 1.4|53 ~48 | 30.3||Ho=15.8/44 ~36.5| Sy |10.5~7.5 | Ho | 10[— 0.4
G=0.30 14 I |24.5~16.5} H, | 30 1.1|48 ~37.5| 26.6||G=0.24 | 36.5~27.5| H. | 7.5~3 H, 0= 0.2
R=13.3 |4¢ ~43 | S.G|16.5~15.5| 1 20| — 0.8]87.5~28 | 15.4|R=11.4|27.5~23.5| GH.| 3 ~0 H.
T,=—4.2|43 ~42.5| I |15.5~14.5] H, | 10— 0.5]28 ~18.5| 21.8|| T,=—4.2[23.5~23 I
42.5~42 | $:G|14.5~14 I 0 0.07185~10 9.9
42 ~45] I |14 ~1 H, 10 ~0 6.8t i & |57 ~46 N [26 ~24.5] H, | 57|— 0.8]52.5~40.5| 1.0
41.5~36 Hi [11 ~4 |HH, n B|46 ~44 G 24.5 I 50 | — 0.4|40.5~9 4.2
% ~355| I | 4 ~0 G 2248 |44 ~43 | S, |24.5~22 Hy | 40— 1.3 9 ~4.5 1 36.1
35.5~35 | H TR 43 G {22 ~215) 1 300 — 111 4.5~0 47.2
W OBy [43 ~42 | S, [21.5~17.5| H, | 20| - 0.8
Hs=55.5 42 G |[17.5~17 | Hf | 10| — 0.4
I i 58 |57 ~56.5 27 ~13.5|S:H,| 57— 2.6|57 ~53 1.0l Hyo=13.0) 42 ~35 | S, |17 ~8 H, 0]—02
i ¥ | 56.5~56 G [13.5~11.5| G 50— 2.3|53 ~46.5| 2.3[/G=0.24 (35 ~26 | H, | 8 ~7.5 | 1
2 A258 [56 ~48 | S, |11.5~4 S, 40| — 2.4 ] 46.5~36 9.9 R=9.9 26 1| 7.5~0 H,
W Hi |48 ~42 S, | 4 ~2 GHi| 30|—- 2.0[36 ~27 |20.1)T.=—-18
il v 42 ~30.5] S, 2 I 20 14127 ~17 | 14.3
Hs=56.530.5~27 S: | 2 ~0 GH| 10|— 07|17 ~7 20.3|| 4t # & [50.5~415| N |26 ~23 Hy | 50| — 0.2]47.5~37 1.0
Hy=14.8 ol—03l7 ~2 2.3\ HEER S | 41.5~395) G §23 ~16 | H. | 40|- 22|37 ~17 4.0
G=0.26 7 ~0 32.3(( 2 H24H [39.5~38 [ S\G(16 ~155( I 30— 26|17 ~10.5( 29.6
R=154 TTR ! 38 G |15.5~14 Ho | 20— 1.9[10.5~0 50.4
T.=—2.8 mooEs |38 ~36 S, 14 I 0|-11
He=50 |36 ~34 G |14 ~9 H, 0|—-105
Ho=11.4/34 ~305] H, | 9 ~85 | I
I & |68 ~67 N (17 ~15.5| G 68| — 0.5]71 ~68 1.0|[G=0.23 | 30.5~26.5| H: | 8.5~5 H.
FHELD [ 67 ~66.5] $1G115.5~13 | S; | 60| — 2.0(68 ~67 2.3|lR=16.5 | 26.5~26 1|5 ~0 H.
2 A258 | 66.5~65 G [13 ~11 | H | 50— 25|67 ~55 |11.1|T=-2.2
i E165 ~50 | Si |1l ~9 [GH.| 40)—2.0!5 ~46 | 13.4
o Ry |50 ~35.5| S. 9 1 30 1.4|46 ~36.5| 15.5/|4L i & |34 ~25 N [11 ~85 | He | 34— 04|32 ~21.5| 1.0
H,=68.535.5~25 Se | 9 ~3 G 20| — 0.8)36.5~23.5] 27.7| + k|25 ~22 G 8.5 L | 30|—1.3[21.5~5 4.1
H,=20.4]25 ~23 G |3 ~25]| 1 10— 0.5(23.5~14 | 55.4{ 2 H24B |22 ~16 | NS.| 8.5~2 He | 20]~ 4.4f5 ~2 77.3
G=030[23 ~17 S2 | 2.5~0 G 0[—-0.2[14 ~10 |32.8{iW @|16 ~11.5] He | 2 ~0 I 10]-332 ~0 |[152.8
E=28.9 ' 10 ~p 62.8l1m B 111.5~11 I 0 — 2.0
T,=-2.1 Hs=33
Hu=6.0
G=0.19
R=193
I & | 53.5~46 N [20 ~17 | H, |53.5] - 30|56 ~43 1.0|| Te=—2.4
B |46 ~41 N |17 ~16 I 50 1443 ~10 2.9
2 H24H |4 ~39 G |16 ~14 | H | 40 14|10 ~4 22.3(1 L i 7| 30.5~21 N [10.5~9 H: | 30| —3.9|245~13.5[ 1.0
i B39 ~365| Sy |14 ~13 | Hf | 30 1.9 4 ~0 24818 k|2l ~185| G | 9 ~55 | Ho | 20| — 4.7|135~12 | 19.0
o B[ 36.5~30 S [13 ~0 Hy | 20 1.8 2 A24H [18.5~13.5| N | 5.5~2 H: | 10| —2.3]12 ~95 | 10.3
He=54.5130 ~20 | H 10 1.4 b Wl3s~12 | W[ 2 ~0 I 0| — 20| 95~5 9.0
Ho=12.9 ol- 0.7 W g5 (12 ~10.5] He 5 ~0 19.0
G=0.24 Hs=29
R=6.1 Ho=4.6
T,=—4.5 G=0.16
R=12.9
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ES % w7 on WO ks H S w7 s @F K
H H| T H | R] H H F T, H R
Ao H| 85~83 G 85~83 0.8t # # | 140~132 | N 140~131 | 0.8
& | 83~80 Sy 83~82 2.1 # M| 132~126 | G 131~110 | 3.1
3A28| 80~78 G 82~69 37| 3A38 | 126~122 | H 110~99 | 16.7
K HE | 7856 S, 69~60 | 1.0\t B & 122~95 Sa 99~89 | 22.1
W k| 56~25 |[S.H, 60~49 9.4l A| 95~54 Sa 89~79 | 22.1
Ho=84 25~9 GH, 49~40 | 28.8(| Hs=140 | 54~26 | Gi 79~70 | 24.4
Ho=26.8 9 I 40~30 | 301 Ho=45.1| 26~0 Gi 70~64 | 35.5
G=0.32 9~0 GH, 30~24 | 42.1|G=0.32 64~59 | 42.1
F=20.2 24~15 | 24.4|R=24.5 59~48 | 31.2
15~9 28.8 48~39 | 28.8
9~4 34.1 39~29 | 43.1
4~0 22.1 29~19 | 43.1
19~9 43.1
9~0 20.9
it i B 42~40 G 41~39 0.8
doiE |} 210~207 | G 207~201 | 0.8k  mt| 40~3 G 39~38 2.1
o % 207~184 | Hy 201~187 | 5.0 3838 | 33~7 S: 38~35 5.5
3828 184 G 187~174 | 5.2/ % B % 7~0 G 35~20 6.1
koW B 184~142 | S, 174~164 | 18.1](3% %k 20~12 9.6
k| 142~84 Sz 164~153 | 20.3|| He=42 12~3 8.8
Hs=210 | 84~35 G 153~143 | 30.1|| Hu=12.8 3~0 8.8
Ho=71.3 35 I 143~134 | 28.8| 6=0.30
G=0.3¢] 35~0 Gi 13¢~124 | 38.1||R=7.2
R =494 124~118 | 68.8
118~113 | 90.1|| 4k # & | 60~55 N 65-~58 0.8
113~108 | 58.1}| % & | 5548 G 58~53 4.1
108~98 | 83.1|3A3H| 48~36 Sz 53~50 8.8
98~86 | 96.5(| %k B & | 36~28 | S:.G 5043 7.8
86~77 | 25.4{[#& k| 28~5 Sz 43~38 | 14.1
77~67 | 39.1|| Hi=60 5~0 G 38~33 | 18.1
67~57 | 99.1|| H»=19.0 33~26 | 10.7
57~47 [ 51.1|| G=0.32 26~19 | 25.0
47~41  [116.5|| R=14.1 19~10 | 22.1
41~37  [183.1 10~5 22.1
37~26 | 35.9 5~0 18.1
26~17 | 8301 | 40~37 G 22~19 S, 4138 0.8
17~11 | 76.5|| & 2 B| 37~34 G 19 G 38~24 2.8
11~4 411 3A38 | 34~27 Sa 19~13 Sz 24~18 7.1
4~0 34| K oA 27 G 13~9 G 18~11 6.4
i x 27~22 Sz 9~4 G 11~0 4.0
He=40 22 G 4~0 G
Ho=12.3
| 60~57 | G 56~53 | 0.8]| G=0.31
B M| 57~13 S, 53~48 2.1||R=4.2
3HZHE| 13~10 G 48~39 6.6
BHE S| 10~2 S, 39~27 | 12,14k # # | 45~43 N 47~44 0.8
Kk 2~0 G 27~18 | 1554  #i| 43~20 G 4433 2.1
Hy=60 18~8 2.1 3H3H| 2~15 | S:G 33~26 3.6
Ho=11.5 8~0 21K 8 o] 15~0 Gi 2%~23 | 155
G=0.29 mooK 23~20 | 18.8
R=13.5 Hy=45 20~17 | 22.1
Ho=17.5 17~11 | 35.5
G=0.39 11~3 9.6
R=11.4 3~0 8.8




18 wWE A

5 7" Ef B 7 o B E e 7 E ml v o EE
H F H F Ts H R H F H F | H Ts H R
B 7766 G 79~76 .84t # &| 70~60 | G 71~69 0.8
K& W] 66~44 | S:G 76~74 2.1|| LAzl | 60~56 G 69~58 3.0
3A3H| 44~35 | Gi 74~56 3.2 3H4B 56 i 58~45 3.7
KE A 35~2 |SG 56~50 8.8 % B & | 56~45 |SaH, 45~34 4.9
# k| 26~19 G 50~37 | 1.4{#F K| 45~20 | S.Hi 34~27 | 13.6
He=T9 19 1 37~27 | 22.1|| Hs=70 20~5 GH, 27~25 | 32.1
Hu=25.3] 19~16 G 27~18 | 11.0|| Hu=21.3|  5~0 Gi 25~21 | 19.6
G=0.32| 16~3 S:G 18~10 | 17.1}{ G=0.30 21~17 | 22.1
k=115 3~0 G 10~3 13.6l E=9.3 17~12 | 10.1
3~0 28.8 12~8 7.1
8~2 17.1
2~0 7.1
It e | 87~85 N | 38~36 [S.H, 84~82 0.8
BHAE | 85~70 G 36 I 82~80 2.1|| % & B |120.5~185| G 8.5 G | 120| — 0.7[120~~118 | 1.0
SA4E| 70~60 |[S:Si| 36~32 |H.S. 80~72 2.8||%  A(118.5~114.5| G |48.5~47.5| S. | 110| — 0.4 (118 ~103.5| 4.0
®E G| 60~46 Se | 32~2 |GHii 72~66 7.1l| 2 B23E |114.5~112 | S 47.5 G | 100} — 0.9103.5~99 7.9
# k| 46~38 |S:Hi| 2~0 1 66~54 | 13.8||1h W [112 ~111 | G |47.5~445| S. | 90|— 1.3]99 ~90 | 13.4
Hs=88 38 1 54~44 | 14.1f|W  B|111~~108.5] S 4.5 G 80)— 1.419 ~85 | 38.3
Hu=27.5 44~34 | 14.1|| As=119.5| 108.5 G |44.5~425| S, | 70|—1.3[8 ~75.5] 23.9
G=0.31 34~27 7.8|| Ho=30.6|108.5~98.5 | S: |42.5~37 G 60| — 1.0(75.5~65 | 25.7
R=10.1 27~19 4.6/|G=0.26| 98.5 G ki I 50— 0.8)|65 ~56 | 42.8
19~12 | 19.3|| R=30.7 | 98.5~91 S: [37 ~30.5| G 40— 07|56 ~51 | 14.8
12~9 8.8l b=—0.5 91 G [30.5~30 I 30— 0.4|51 ~40.5]| 48.5
9~4 10.1 91 ~78 | S: [30 ~21 Sy | 20|— 0.3]40.5~30.6 32.8
4~0 7.1 78 ~76 G (21 ~165] S: | 10| — 0.2(30.5~21.5| 62.8
7% ~56 | S: |16.5~16 I 0l 0.0[21.5~14 | 67.8
56 ~52 G |16 ~11 G 4 ~0 29.5
do# | 92~82 | N 36 1 91~85 0.8 52 ~49.5| S» 11 I
EHF | 8~7 | S| 36~19 |GH 85~83 2.1 49.5~49 | S5 |11 ~0 G
3A4E| 76~70 | G 19 1 83~68 2.8 49 ~48.5| S:
B E B 70~47 | S. | 19~10 |GH. 68~61 3.6 % & B | 455~ G |17 ~155| G |45.5|— 0.9]45.5~43.5| 1.0
oK 47 I 10 I 61~56 | 10.1||/ W |44 ~42 G [15.5~9.5 | S; | 40| 0.0]43.5~36.5| 3.0
Hs=92 47~40 | GHi| 10~0 GH: 56~49 | 10.7|| 2 A238 |42 ~40.5] G | 9.5~9 G 30| — 0.4]36.5~31.5] 12.3
Ho=26.0] 40~36 |GH: 49~35 6.4 W H|40.5~39 Si| 9 ~65 | S| 20|—0.7|31.5~27.5| 22.3
G=0.28 35~22 solm B39 ~37.5] SiG 6.5 I 10| — 0.5(27.5~22.5| 17.3
R=8.9 22~15 | 25.0|| Hs=46 |[37.5~32.5] S, | 6.5~4.5 | G 0| 0.0[22.5~16 | 16.1
15~11 | 27.1|| Hu=15.3| 32.5~27 Sy | 4.5~35 | G 16 ~6.5 | 30.7
11~7 12,31 6=0.33 |27 ~19.5] S: 3.5 I 6.5~0 16.1
7~2 10.1)| B=16.8 | 19.5~17 | S:Hi| 3.5~0 G
2~ 321l To=—1.4
3t i # | 100~90 N 103~100 | 0.8]|% # W |8 ~785| G [43.5~42 | G 80| 0.0{80 ~76 1.0
A ZELD 9~T5 G 100~98 21| AT | 78.5~77 | SiG |42 ~205] S: | 70— 05|76 ~65 8.7
3R4E| 5~70 | S 98~72 2.5 2A238 |77 ~75.5| G |20.5~185| G 60— 1.5|65 ~54.5|17.5
® W g 70 I 72~63 | 2440 m[755~745| S [18.5~16.5] G 50 | — 2.1]54.5~48.5 32.3
k) 70~27 | Se 63~53 | 26.1||@  E5|745~73.5| G |16.5~13.5| S. | 40| — 1.8]|48.5~41 | 18.8
He=100 | 27~13 |GHii 53~43 | 26.1|| Hs=80 |73.5~72.5| S: |13.5~12.5| S5 | 30| — 1.3|41 ~30 | 21.0
Hy=31.0 13 1 43~33 | 30.1|| Hu=23.5] 72.5~72 G |12.5~105| G 20— 0830 ~20 |348
G=031] 13~0 G 33~23 | 10.1||G=0.29]72 ~67 | S: |10.5~9 G 10— 05{20 ~9.5 | 19.9
R=16.6 0 I 23~14 | 24.4||F=202|67 ~60 | S: | 9 ~6.5 | S 0| 0.0] 9.5~5 16.1
14~5 1.0 Te=1.2 |60 ~57 | Sy | 6.5~5 S.G 5 ~0 26.8
5~3 2.1 57 ~54.5| Su 5 G
3~0 421 54.5~51 S| 5 ~4 S,
51 ~45 | S: | 4 ~0 G
45 ~43.5| G




BRI THEOLEMEA%E 1

Ef ® E w7 o B E E H ES B 7 o B E
H H F| H| T H R H H F | H Ts H R
F & B [121 ~119 53.5~33 S. | 121 0.0 120 ~108.5| 1.0f % & 18 |21.5~19 N |14 ~9 | H|215|—1.1|20 ~17 1.0
#® M |19 ~135) S, |33 ~30 G | 120 0.0)1085~104 | 2.3||& H|19 ~18 G |9 ~8 |GH/| 20|—0.9[17 ~3 3.8
2 A23H 1135 G {30 ~22 S; | 110]— 0.2]104 ~9%.5| 8.6/ 2A21H |18 ~17 Si |8 ~7 jGHi] 15]—-1.1]3 ~1 12.3
W H||U3.5~10 | S, |22 ~19.5| Sf | 100|— 1.5|94.5~85 | 12.8|l1 H |17 ~16 G |7 ~2 |GH/| 10/—-0.8]1 ~0 22.3
m B0 ~18 | G 19.5 I 90| — 2.2|8 ~75 |323|@ EB|16 ~14 S| 2 ~0 I 50— 0.3
He=120.5|108 ~106.5| S: |19.5~17.5| G 80— 2.1(75 ~70 | 32.3|| H:=20.5 0] 0.0
H,=37.6]  106.5 G [17.5~15 | S:G| 70| — 1.9]70 ~60 | 32.8|\ Hv=5.4
G=0.31 |106.5~90.5 | S, {15 ~14 G 60| — 1.6 |60 ~50 | 20.8|| G=0.27
R=22.7 90.5 G |14 ~13 |S.G| 50— 1.2]{50 ~39 |30.1]R=56
T,=1.8 | 90.5~89 S, 13 G 40— 1.0|39 ~30 | 36.1)| Ta=—1.9
89 ~87 St |13 ~12 [S.G| 30|-0.7[30 ~19 | 30.1
87 ~6l S. 12 G 20— 0.3|19 ~10 | 30.5|% m# |16 ~13 N [8 ~7 G |16 |— 2715 ~12 1.0
61 ~57 |12 ~11 [ S.G| 10— 0.1|10 ~0 21.8|% @13 ~95| G |7 ~5 Ho|15|—21[12 ~8 | 148
57 ~55 G |11 ~5 G 0 0.0 2218 9.5 I |5 <15 |GHi| 10 |—1.2| 8 ~ 4.5|13.7
55 ~53.5| S: | 5 ~0 I W M| 95~ 8 G [1.5~0 GI| 5 |—0.4]| 45~ 1 9.4
53.5 G WB 8 1 0 0.0} 1 ~ 0 7.3
He=16
¥ HBI6T ~655] G 24 1 67 0.0]66 ~56 1.0/ Ho=4.3
3. Bi|65.5~62 S, |24 ~22.5| G 60| — 0.1|56 ~45.5| 6.6||G=0.27
2 B238 |62 ~58.5| Si |22.5~19.5[S:Hi| 50| — 1.1|45.5~41 | 19.0|R=10.0
U M |58.5~57 G [19.5~16 Sy | 40| - 1.3|41 ~36 | 20.3|| T=-3.1
a B|57 ~56 S, {16 ~15 Sy | 30— 1.0{36 ~24.5] 20.6
He=66.5 56 G 15 I 20| — 0.6]|24.5~15 | 33.9|I% B B |70.5~69.5| N |40.5~37 S 7051 — 27|71 ~67 1.0
Ho=18.0|56 ~42.5| Sy {15 ~10 G 0[-03[15 ~0 2.3l ®  f5169.5~66.5|S.G|37 ~35.5| S5 | 70| - 2.4|67 ~49.5{ 2.3
G=0.27 | 42.5~37 S: {10 ~6.5 | S ol 0.0 2 A23H | 66.5~57.5| Si |35.5~29 | S. | 60|— 3.4|49.5~44 4.1
R=17.6 |37 ~34 Sy | 6.5~4.5 | $.G W M|57.5~55.5} $iG |29 ~25.5| S: | 50|— 25|44 ~36 | 11.1
T,=2.1 |34 ~325| G | 4.5~2 S, W B|55.5~48.5] S, |25.5~21.5| G 40— 1.5(36 ~31 | 323
32.5~2550 S: [ 2 ~0 G Hy=71 (48.5~47.5{ G [21.5~18.5| S: | 30— 1.0(31 ~26 | 44.3
25.5~24 G Hu=20.5 47.5 1 18.5 G 20— 0.6|2 ~20 |27.3
G=0.29 [47.5~46.5| G |18.5~ 2 S: | 10]—0.2]|2 ~10 |27.8
R=18.8 | 46.5~42 S| 2 ~0 G o oo0f10 ~1 |[361
E B |[37.5~31 N [11 ~85 | S: |37.5] 0 |40 ~30 1.0 Te=-2.742 ~40.5| G 1 ~0 |328
B |31 ~26.5| S 8.5 1 0|— 023 ~25 2.3\ % B 1B 154 ~52.5 27 ~26 |[S.Hy| 54|—0.2]55.5~49.5| 1.0
2 B22H |26.5~25 G | 85~6 Ho| 20]-1.7]25 ~13 9.8k  ##|52.5~51 G [26 ~20.5| Sz | 50|— 0.3]49.5~35.5| 2.7
i H|25 ~16.5| S. 6 I 10— 1.4[13 ~0 5.4/ 2 B22H |51 ~50 S, 20.5 I 40| — 1.3[35.5~31 | 13.4
W B 16.5~15 G 6 ~3 G 0] — 0.2 IV 50 G ]20.5~16.5] G 30— 1631 ~25.5| 16.8
Hs=36 15 1 3 I & B|50 ~41 S, |16.5~10 | Hi | 20/-1.3]25.5~20 | 32.3
Ho=75 |15 ~11 |GH/| 3 ~0 G He=54 |41 ~39 G |10 ~95]| I 10— 06|20 ~ 85180
G=0.21 Hy=15.2|39 ~38.5 9.5~ 6.5| S. 0| 0.0 85~10 4.1
R=5.2 G=0.28 | 38.5~37.5 6.5 I
0=0.2 R=11.1 | 37.5~33 S; | 6.5~ 3.5|S:H:
Te=0.1 {33 ~30 G | 3.5~0 G
30 ~27 | S:H:
®oE B[4 ~44 N [19 ~18.5] I 45| 0.0]46.5~42 1O\ # B & |64 ~63 N [29.5~245| G 64— 8.6|65 ~63 1.0
’  H |44 ~40.5| NS, [18.5~16 G 40— 1.7(42 ~38.5| 2.3|A #E{63 ~61 G |24.5~24 i 60| —10.1]63 ~49.5| 4.2
2 H228 | 40.5~40 G [16 ~14 G 30| — 4.6 38.5~31 9.0 2H228 |61 ~55 Sy |24 ~19 G 50| — 5.2(49.5~41.5| 6.1
il B4 ~39 S, [14 ~13.5] 1 20— 24|31 ~21.5| 17,0l = 55 G [19 ~16.5| S | 40— 2.5|41.5~36.5| 4.3
W B39 ~38.5| G [13.5~12.5| G 10— 1.0(21.5~13.5| 29.8|@ & |55 ~45 Su 16.5 G 30— 1.0{36.5~30.5| 19.0
H=45 |38.5~25.5| S, [12.5~11 H, 0 0.0[13.5~11.5( 17.3(| Hi=64.545 ~44 G [16.5~14.5| S. | 20| - 0.6{30.5~20 | 17.5
H~12.0{25.5~24.5| G 11 G 11.5~6 26.8|| Ho=19.6| 44 ~41 S, 14.5 I 0-02[20 ~10 |20.3
G=0.27 24.5 11 ~7.5 |S:H, 6 ~1.5 | 33.4/G=030 |41 ~40.5| G |14.5~12.5] G 0] 0010 ~4 | 156
R=18.4 | 24.5~23 G | 7.5~4 3Ss 1.5~0 29.0]| R=12.7 | 40.5~40 S, |12.5~ 9 S, 4 ~ 25| 35.6
w=0.2 |23 ~19 S | 4 ~0 $2G To=—8.4|40 ~385| G | 9 ~6.5| G 2.5~ 0 |20.3
38.5~31.5| S: | 6.5~0 | GI
31.5~29.5| G~




20 wWE WA -l
E 7 R % T M| 7 . W
H F H Flul n H R H " Fla] 1 H R
Boom (12 ~11 N 36 I 112 5.4 114~99 1.0 fk B 4L 192.5~85 26.5~25 G [92.5]|—3.1[97 ~83 1.0
kM1l ~108 /NS, |36 ~34 | G| 110)— 45|99 ~81 2.6/ 4T |1 BI85 ~82 N 25 I 90| - 1.9(8 ~70.5| 2.3
2 H218 (108 ~105.5( §,G |34 ~32 G 100 1.1]81 ~66.5| 16.1)| 9 jo1m |82 ~80 G |25 ~23 G 801 — 2.0|70.5~61.5| 7.9
e B106.5~1025) 8, 3 Do) = L1166.5~83 | 245, |g0 ~765| S, |23 ~22.5| 1 | 70| - 2.0(|61.5~53 | 117
BB 025-100 )G oSz =28 ) G 80— 1488~ 056 g g s, lo25~195] S, | 60)—1.6]53 ~47 | 56
He=112 [0 ~ 8 | s, 29 D0 nafed ~BE)VE o s | s, | 195 G | 50|- 13|47 ~36.5| 175
Ho=29.2) 98 G |29 =% | G 60} = 128852 U85 ool us | s. [195~16 | S, | 40|— 1.1 |365~26 |23
G=0.26 198 =86 | S )20 ~225) G880\ = L0\~ T8 e is| 6 e <155 G | 30|09l ~2 | 73
R=16.0 |86 ~85 | G |22.5~20 [GS.| 40|— 08|14 ~0 |16.7 :
roeisl8s ~s | s |20 ~105] 1| 30|- 07 F=10.3 [47.5~43 | S [155~10 | S, | 20— 06|22 ~15.5| 115
6 c lwos-1ss| c | 20|-0a T=-32[43 ~40 | G 10 G| 10|-03|155~12 | 137
84 ~82 | s, |18.5~13 | .| 10|- 0.2 0 ~30 | S [10 ~4 [s,| o 00|12 ~0 |10
82 G 1B ~12 |G o) 00 3 ~28 | ¢ 4 G
8 ~52.5] 8, [12 ~8 | S, 28 1|4 ~2 | s,
525~50 | ¢ |8 ~7 | G 8 ~265| G |2 ~0 |
50 ~45 | 8, |7 ~6 | S 2%.5 I
45 ~4d G 6 G 2|15 ~14.5| N [10 ~85|8,G| 15— 2.9[15 ~14 1.0
4 ~36 |8 |6 ~0 | S W OB |145~125] G | 85~8 | 1| 10|-22[14 ~13 | 23
B R 127126 [ N [37 =35 | 6* | 127] 0.0[15 ~1055] L0 g parm| 125 Pls ~75l o | slooalis =g | 273
#0F e~z | 6|3 =3 |6 || oofwss~m el sl o L gl sseo |G ol ool =5 | s
ARG | 124120 | S0 |30 <31 | Sy | 10[- 04|78 ~T5 gl " . s ~0 |
Goom| o112 | s, 31 G| wo|-11|m o~ |23
W B | 12~109 | G |31 ~20 | S, | 90|-1.3[70 ~60 |20.3
He=120 | 109~100 | . |29 ~28 | G | 80| 12|60 ~s0 | 17.9) P47
Ho=32.9) 100 | G |28 ~27 | S| 60|—0.9]50 ~d0 | 263|670
G=0.25| 100~89 | S, |27 ~25 | G | 40| — 0.5[40 ~34.5] 45.9 £=19.0
R=18.3 89 G 2 T 20)-0.2{34.5~24.5{ 293} la=—22
T=—2.4|89 ~81 | S, {25 ~23 |GS.| 10| 0.0]24.5~15.5] 30.5
84 G 23 ~205| .| o o00li55~a5] 203w R E]| 128~12 | N 65 G | 128]— 0.8 126~106 | 1.0
8 ~60 | S:| 205 G 45~0 |57.1|#% | 126~124 | G |65 ~63 | S. | 120|— 0.4| 106~9%4 | 2.3
60 ~58.5| G |20.5~19 | S 2 F20H | 124~88 | S, |63 ~61.5| G* | 10| — 06|94 ~89 |12.3
58.5~56.5| S. 19 G T 88 G [61.5~57 | G | 100|-1.0/8 ~81 |11.7
56.5~54 | G 119 ~17.5] S, WOB |88 ~85 | S, |57 ~47 90|—-1.0/8 ~7 |105
5 ~80.51 8, |17.5~15 ) G He=127 |85 ~84 | G |47 ~a1 | G | 80|—0.9]70 ~66 | 22.3
50.5~45.51 G 115 ~12.5| GS; Ho=34.8/84 ~825| S, |41 ~38 |S:G| 70| - 06|66 ~60 | 32.8
495739 | S. J125- 8 | G G=0.28 | 825 G 38 ~35 | G| 60| 03|60 ~50.5]29.1
% 1 R F=16.5 |82.5~81.5| S\ |35 ~20 | S, | 50| - 0.2]50.5~41 | 40.7
9 ~37 | S |1 ~0 |1 X
Bom e | 125~121 | N 12 U | 125 < 07| i3~w6 | 1) = 18 85 C |20 ~19.51 G d0) 0.0141 ~32 ) 161
B w~ne | N a2 ~395| 6 | 120] 00| 106~81 | 23 81.5~80.51 Su | 19.5-18.5) o\ 30} 00032 ~28 1 9.5
2A2E | 19~113 | NS, [395~3 | G | 10| — 0.3] 8i~73 | 12.3 80.5~77.50 G 1185~11 4 G | 204 00425 ~I5 4 13.3
W] 13~110 | S, 36 I | 100]~09| m~59 |152 75~75) S {1 =7 | &G 10 0.0)15 ~10 | 27.3
W ES| 110~107 | G |36 ~3¢ | G | 90| - 1.1| 59~53 | 15.6 75.5 G |7 ~4 |SG| 0f 00|10 ~6 |33
He=124 | 107~100 | S, |34 ~33.6| 1 | 80|— 0.9| 53~43 |32.3 75.5~65 | S|4 ~0 | G 6 ~0 |333
Hu=31.4| 100~91 | S, [33.5~31.5|S.G| 70|~ 0.8| 43~32 | 21.0fw % w{80 ~785| G |35 ~29.5| ¢ | so| 0.0|79.5~50.5] 1.0
G=0.26 | 91~89 | G [31.5~28 |S.G| 50| — 05| 32~20 | LL1\# 0 |78.5~69.5 S [29.5~27 | S. | 70| 0.0|59.5~56 | 9.4
R=14.0 | 89~8 | 8|28 ~26 | G | 30| —0.3| 20~13 | 26.7) 2 5208 |69.5~61.5| S\ |27 ~26 | G™| 60| — 0.7]56 ~51.5| 9.0
L=-37) & G 126 ~21.6| S | 204 — 01| 13~0 12840 1|6l.5~59 | G |2 ~205] G | 50| — 1.0|51.5~45.5] 12.3
B2 ~66 | 8. 121.5-19 ) G | 10 0.0 M5 ~58 2.5 I | 40]-0.9]45.5~35]11.2
66 ~64 | G 19 ! o) 0.0 Hy=80 |58 ~45.5| S, {205~18 | G | 30|— 0.5|36.5~20 |21.0
64 ~61 | Se 19 ~I75| G Ho=21.0| 4.5 ¢ |18 =175 1| 20|-03]29 ~195]49.7
61 ~50.5| G 17.5 I . i 5
0505 s o5 | G G=0.26 [ 45.5~44.5| Su |17.5~16 | G | 10| = 0.1]19.5~ 9.5] 2.3
o5 o s . R=17.9 | 4.5 G 16 I 0| 0.0] 95~0 |33.9
w517 | sl —w0s! g Te=0.9 [44.5~40 | s, |16 ~125| G
7 ~6 | 6 |ws-7 | s 0 ~3 | G [125~8 | s,
15 1 7 ~ 2 G 39 ~36.5| Su 8 I
65 ~42 |G |l2~0 |o 36.5~3 | G | 8 ~35|¢C
% 35 | S |35-0 |G
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W% R | 34.5~33 N 1195~185] G |3¢4.5| 0.0{33 -~27 1.0\ % ® R8s ~81.5| N 85| — 0.6(8 ~7350 1.0
TR 7 33 G [18.5~14.5| S | 30| 0.0]27 ~17.5| 2.8||B il |81.5~77 N 80| — 0.5]73.5~73 2.3
2 208 |33 ~29.5| NS, 14.5 1] 20— 0.3)17.5~12 4.1l 2 A198 [ 77 ~T4 G 70— 0673 ~44 2.4
i W |29.5~22 S, [14.5~ 75 G*| 10— 0.3[12 ~8 |23k W[4 ~45 S, 60| — 0.8]44 ~39 7.3
W B2 ~20 G | 75~ 7 I 0 0.0 8 ~3 |383|@ Bj45 ~37 G 50| — 0.5{39 ~36 |19.0
Hs=34 |20 ~195| G | 7 ~0 G 3 ~0.5]223||H=8 |37 ~30.5| S: 40— 0.2]36 ~30 |14.8
H,=8.6 0.5~ 0 | 22.3|| Ho=21.1| 30.5~19 S: 30| —0.1[30 ~25 |23
G=0.26 G=0.25 |19 ~18 I 20| 00|25 ~21.5|15.2
R=12.2 R=7.6 |18 ~10 G 10 0.0]|21.5~19 |18.3
T.=2.0 T.=—0.610 ~ 9.5 0f 00|19 ~17 |19.8
9.5~ ¢ G 17 ~155|22.3
15.5~14.5¢ 7.3
14.5~12.5] 4.8
12,5~ 9 3.7
i R | 105 ~85 N |53 ~51 S: | 105 0.0{106 ~81.5| 1.0 9 ~5 4.8
R |85 ~80 | NS, 51 G | 100] 0.0]8.5~74 5.6 5 ~3 7.3
2 A208 |80 ~78 G |51 ~49.5| S. | 90|— 08|74 ~655]| 8.2 3 ~0.5] 6.3
W E|718 ~66.5] S 49.5 G 80| — 2.9]65.5~55.5| 12.3 0.5~ 0 |22.3
mB 66.5 G |49.5~45 Sz | 70| — 2.7|55.5~46 |23.4
Hs=105 [66.5~64.5| S, {45 ~37 S | 601— 2.0(46 ~36 |32.3
Ho=29.5] 64.5 G |37 ~3% | G ] 50)— 1.2]36 ~31 |80.3)|% B ®}37.5~31.5) N 7.5 1 135.5]—0.2]40.5~355 1.0
G=0.28 | 64.5~62.5| S, |36 ~19 G 40— 0.5(31 ~26 |42.8/% %|31.5~30 G | 7.5~6 |S:G| 30]—01[355~245[ 23
R=15.4 |62.5~61.5| G 19 I 30— 0.1]2 ~21 |12.8{2A19H |30 ~19.5| S, 6 [ 201 — 0.1]24.5~ 7.5| 2.5
T.=2.2 {61.5~60 {S.G|19 ~15 G 200 0021 ~9 1| WIT: 19.5 G |6 ~1 Se | 100—01 7.5~55](14.8
60 ~56.5| G |15 ~13 0 0019 ~5 |48 £H[195~115] S |1 ~0 G o 0.0} 5.5~25| 9.0
56.5~54.5| S: |13 ~5 |GS: 0f 005 ~0 7.3|| Hs=37.5| 11.5~ 7.5| G 25~ 1.7 8.6
54.5~53 G |5 ~0 G Ho=8.1 1.7~ 1 9.4
G=0.21 1 ~0 7.3
R=3.7
Ta=1.0
W R 160~154 | N 160 | — 4.9|157 ~133.5| 1.0
g Bl 154~137 | NS, 150 | — 1.7|133.5~104 | 2.3 % & % [18.5~ 8 N 185 — 0.4[18 ~11 0.8
2A198 | 137~134 | G 40— 1.8(104 ~1025) 9.0(&% #| 8 ~0 G Bl 00in ~0 1.4
W B 134~9 S, 130 — 2.0|102.5~ 98 | 6.7| 2 A198 0]-01
W B 9% ~945| G 120 — 2.0|98 ~95 9.0 f R 50 0.0
Hy=157.5 | 94.5~88 S, 110} — 1.519 ~93 | 12.3||H:=18 ol 0.0
Ho=44.2|88 ~87.5| G 100 — 1.0 93 ~89 9.8|| Ho=3.2
G=0.28 | 87.5~86 S, 90| — 0.5[8 ~85 9.8(G=0.18
R=14.4 |8 ~79 G 80| — 0.1]8 ~80 |22.3|R=1.0
To=-15|79 ~57 S: 70— 0.1]8 ~72 |15.4
57 ~55 . 60| 0.0|72 ~67 ]30.3
55 ~41 G 50| 0.0|67 ~61.5]38.7
4 ~405( 1 401 0.0(61.5~57 | 2454 ® {32 ~22 N 320 —2.0(32.5~1950 1.0
40.5~38 G 300 0.0]57 ~51 |20.0|&% @2 ~195| G 30| — 1.5(19.5~15.5| 3.6
38 ~34 S. 20| 0.0]51 ~40 7.9 2 A198 | 19.5~18 S, 20| — 0.5]15.5~12.5| 10.6
M4 ~29 G 0] 0.0/40 ~32 |83l HI18 ~14 G 0(—0.5(12.5~10.5 14.8
29 ~28.5] 1 ol o032 ~a |w.if@ Bl ~12 Ss o 0.0]105~75]15.6
28.5~ 0 G 21 ~13 9.6/ Hs=32.5|12 ~11 S, 7.5~ 3.5 12.3
13 ~8 [33.3|Ho=8.0 |11 ~ 55| S, 3.5~ 1.5]17.3
8 ~3 |53.3|G=024] 55~ 0 S: 1.5~ 0 9.0
3 ~ 0 [103.3]|R=7.2
To=—1.2
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Hiwe|w ~17 | N 20— 0.2]19.5~14.5| 1.0{{% 18 B9 ~69.5| N |32.5~20 | S, | 90|— 1.8{9 ~67.5| 1.0
= (17 ~1 |G 15(— 0.5/145~13 | 2.3//# 4 {69.5~68 (5:S.(20 ~28 | G | 80(— 0.1|67.5~56 | 2.3
2HTE (L ~9 | S, 100—08{13 ~95|16.6]2R178|68 ~47.5| S |28 ~21 | GS:| 70|— 0.4[56 ~44 | 2.7
iosm|l9~6 |G 5|~ 0.5 9.5~ 4.5 10.8|f1  Hl475~41 | G 21 I | 60|~ 04|44 ~42 |27.3
WOl 6 ~2 | S, o|—02| 45~05|12.8)|m B4 ~37 | S |20 ~17 |GS.| 50|—0.2(4 ~20 | 46
H=20 |2 ~0 | G 0.5~ 0 |12.8[H:=90 |37 ~365| G |17 ~12 | ¢ | 40| 0.0|20 ~15 | 6.3
Huo=5.1 Ho=22.6036.5~33 | S. |12 ~10.5| G*| 30| 00|15 ~9 | 7.3
G=0.26 G=0.25 |33 ~32.5| G [105~0 | G | 20| 009 ~0 | 3.4
R=9.1 R=4.2 10 0.0
T=—2.2 T.=—11 0| 0.0
H%B[3%6 ~3B5] N 36| —0.1/3 ~30 | 1.0
% f)1[35.5~33.5] G 30— 013 ~0 | 2.3
2A278 | 35.5~11 | S 200~ 0.4
HHE| 121~100 | N {35 ~30 | S, | 121 0.0 118~9% | roffn & 1 G 1] 04
E M| 100~83 30 ~25 | G | 1nel-02]9% ~ws) 23w Bl ~4 | S 0] 0.0
2 R178 83 G |25 ~25| 1 | 100]—0.6{775~5 | 2.6||H=36 | 4 ~0 | G
B R| 8~7 | S |245~15 | G | 90|-0.9(59 ~58 | 7.3} Hu=6.6
A Bl 77~6 | G |15 ~145| 1 | 80|— 0.6|58 ~5 | 7.8G=0.18
He=121 | 65~36 | S: [145~6 | G | 70|— 0.2|52 ~48 |12.8/R=2.1
Ho=32.5| 36~3 | G |6 ~0 | G | 60— 02|48 ~43 | 22.8|Ta=—01
G=0.27 50~ 0.3)43 ~39 |25.3|(H B B {172 ~163 | N |99 ~%5 (S5,
R=6.3 40| —0.3)30 ~33 |12.8|% |18 ~1615 9% ~7 | G
T=-2.2 30| — 02|33 ~29 |17.8|| 2 A18E |161.5~143 | S: |71 ~63 |GS.
20|-02|20 ~22 | 7.1|[f0  R|13 ~10 | S. |63 ~60 | G
0[-02{2 ~85| 4™ B 1w G |60 ~40 | G
0|—0.2| 8.5~ 3.5| 5.8Hs=172 {110 ~102.5| S: [40 ~35 |GS:
3.5~ 0 | 6.7 Ho=50.4{102.5~9% | G [35 ~0 | G
G=0.29
T.=—2.0
#9866 ~45.5| NS, 66— 1.0|65.5~52.5| 1.0/ % & #|200 ~101 | N 201 —1.3 |19 ~188.5| 1.0
¥ 5| 45.5~41 Sy 601 —0.15|52.5~38.5 | 2.3||¥&MEWL 191 ~133 | S, 190 | —1.0 [188.5~144 | 2.3
2AI7B 141 ~38.5|GS, 50 | — 0.4[38.5~35.5| 5.6/ 2186|133 ~128 | S, 180 —2.9 | 144 ~140 | 7.3
il 5 38.5 H 40— 0.2]355~25.5| 3.8 i R128 ~112 S, 170 | —2.8 [140 ~133 4.4
W B35~ | G w0l 00lzms-a1s| as|® BN ~1L5| G 160 | —3.0 |133 ~129.5| 3.7
Hems |27 ~1 | s w0l 0.0l215-105| 8ollH=201 115125 S 150 | —2.9 |129.5~124 | 5.0
e e 0] 00|1a5-105]| o8| emid025~% | G 40| —2.7 |14 ~121 |12.3
_ G=0.25 |98 ~94 | S, 180 | —1.7 |121 ~107.5| 5.3
G=0.24 0| 0.0{105~55|17.3] .
st R I R=12.9 |94 ~90.5| G 120 | —1.6 |107.5~103.5| 8.8
T.=-2.0|90.5~68 | S, 10| —0.7 |103.5~9%9 | 9.4
L=-11 L ~0 23 &8 ~67.5| G 10| -0.1 (o9 ~g35| 101
67.5~50 | Sa 92.5] 0.0 |93.5~88.5| 7.8
50 ~42 | G 901 —0.05|88.5~84 | 17.1
# B W17 ~1015| N (44 ~35.5| S, | 107 — 9.3| 107~83 1.0 42 ~41.5| 1 80| —0.1 |8 ~79 |27.8
baEm | 101.5~7 | S |35.5~27.5| G | 100|—7.0|8 ~5 | 2.3 41.5~37 | GS, 0001 |79 ~74 |33.8
2A8E |76 ~75 | S. | 275 i 90| — 2.8|54 ~43.5| 2.5 37 ~35 | GS, 60| —0.1 |74 ~68.5|25.6
HOR 7 G |er5~25 | 6"l s0|—1.5[435~35.5( 2.6 3B ~29 |G 50| 0.1 |68.5~58.5| 43.8
W OB(5 ~74 S, 25 I 70— 0.8[35.5~30.5| 3.8 29 ~22 G 401 0.0 |58.5~48 |37.1
He=107 [74 ~48 | Si |25 ~17 | G*| 60— 0.5]30.5~27 | 4.4 2 ~16 | 5.6 30 0.0 |48 ~44 |23.8
Hu=26.1\48 ~46.5| G |17 ~155| G | 50|— 0.2]|27 ~22 | 7.3 16 ~155] I” 00 0.0 |44 ~35 | 149
G=0.24 [465~44 | G |155~0 | ¢ | 40| 00|22 ~17.5] 7.9 15.5~13 | G 100 0.0 135 ~27.5)10.5
F=29 0l oolis—s!| 53 B ~0 |G 0| 0.0 [27.5~18.5]17.1
To=—4.8 20| 0.0{125~ 85| 6.1 18.5~13.5) 19.8
13.5~10 | 9.5
10 0.0f85~7 | 9.0 w0 ~ a5l 75
T 45~ 25| 8.8
| 2.5~ 0 ﬁ
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o R (200 ~105 | S, 200 ~197 | 1.0(|% b K |18 ~14 G
WEESR (105 ~102.5] G 197 ~19%5 2.8||% & 4 I
2 A18H 1025~ % | S, 195 ~133.5| 2.9(| 2 A28 |14 ~11 Sz
mooR1M ~% G 133.5~127 | 0.5 H 1 1
WoOB|9% ~60 S, 127 ~1195| 8.1\ H |11 ~0 G
He=200 |60 ~50 G* 119.5~109.5 | 14.8| Hs=18
w=52.3|50 ~42.5| S, 109.5~ 9.5 17.8| Ho=6.6
G=0.26 | 42.5~ 0 G 99.5~89.5 | 27.8|| G=0.37
R=14.4 89.5~79.5 1 39.8
Ta=—4.4 79.5~68 | 24.7
68 ~57.5] 38.1
57.5~51 | 22.3/ NI B |25 ~19 G
51 ~41 | 27.8| &iREAR 19 1
41 ~30 |18.4| 2 A2H |19 ~13 G
30 ~24 |50 H 13 I
% ~ 17 7.3|(8  H[13 ~0 G
7 ~0 95|l He=24
Hu=8.7
B % B[085~91.5| N [32.5~27 G [98.5|—1.0 |98 ~81 1.0/ G=0.35
g i |91.5~91 G |27 ~26.5| 1 90| —1.4 |8 ~56.5| 2.3
2H188 {91 ~T71 Sy [26.5~22.5|GS,| 80| —4.0 |56.5~45 |11.0
M R(71 ~69.5( S, 22.5 1 70| —3.0 (45 ~40 6.3
W B|69.5~57.5] Si [22.5~195| G 60| —2.5 |40 ~35 [22.8
Hs=98.5| 57.5~56 S: | 19.5~19 1 50| —1.6 |35 ~30 |18.8
Hy=23.5|56 ~55 G 19 ~15 |S.G| 40|-1.1 {30 ~24.5|24.6
G=0.24 |55 ~51.5| S, |15 ~14.5] I 301 0.7 }24.5~18.5) 19.5
R=10.2 |51.5~485| G [14.5~ 95| G 20| —0.4 {18.5~13 |21.0
w=—4.7148.5~42 |S:S2{ 9.5~ 9 I 101-0.2 |13 ~7.5][21.0
42 ~41 G |9 ~0 G 0]-0.05] 7.5~ 45| 9.5
41 ~32.5| S 4.5~ 0.5(10.3
0.5~ 0 |22.8
B ®HBE[28 ~26.5] N |13.5~12 G 28— 14127 ~14 1.0
ZRLHHT | 26.5~25.5| G [12 ~ 9 S; | 20]—-0.214 ~13 |22.3
2 A188 {255~18 Si |9 ~65| G 15— 0.4]13 ~ 8.5]30.1
IR 18 G | 65~6 I 10{—0.4] 85~ 4.5[27.3
W OB|18 ~15 | 6 —45| G 0]—0.2] 45~1 |23.7
He=28 15 I | 4.5~ 4 I 1 ~0 (123
He=6.7 [15 ~135| G | 4 =0 G
G=0.25 13.5 1
R=13.9
=-3.3
BWLR{14 ~8 G
A PN I 1 &
2A28 |7 ~0 G B
il 5] 0
% | T
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